EETESRE (GH2FE)

[frait] GHfr M)

. TR OB TR

LH ; T e
(ko3 B ) | s e g kgl MBAR (PR R

' TR g zof U

<<//:it$%a%1a FEM K 90% HEE R 20%>
e : : SR :

EH: GARMBRASMETE | ; Akl | o
72s 0201 Ry w07, 400 23’650: 1,950; 1Af%
/\ga@k """ /\ iﬁéﬁ?%‘%ﬁk """""""""""""""

HEREARBRA RN e HEE | : R SRR ey
7.5.2.2 Eﬁﬁkfﬁuﬁﬁﬁﬁéﬁ$¥ | 5,000E 2,200E 2,500 BOOEE%%
Agﬁ ____ /\ __________ ! ﬁ:/ﬁ\ﬁéﬁ%ﬁ ____________________

SRR S A g i BN s
7.2.3.0202 Eﬁﬁﬁﬁ&ﬁ{%%%% : 24,000E 10, 800 12’0005 1,200:171%74
""""""""" Agﬁ/\ *'%Qﬁ%ff?

HZ BARER AR TeEE ! :(\T’S\\Eréé‘j: ! : A
7.2.3. 0203 (HETUERIE TS - 63,0000 25,500 34,650 2,850; A5
""""""""" Agﬁ %fﬁéﬁ%ff?

AT S /ﬁéé%% : : s stte b
728 0204 R 1 900000 12,000 E 1,400} 1A%
B A iﬁg%é """"""

i i i (((:' IEI H H
11.2.1. 2 555 = i e : ,000! , : ,000: A%

S | 100,000] 180 oool 200000 200001 AL

o L 565,000 248,000,  289,3000  27,700!
LB 8 - Pk S5 - lﬂﬁ@%h@é%m‘%?%{a E‘Eéﬂfu 100% #ﬁ R 50%>
SRR -
7.5.2.3 Eeﬁf%k%ﬁ%% ) ooo 1000 < TEIE 0} (A%
N B i 2,000 1,000} 1,000! 0;
SINEEE %%1@ FEU R 100% FEE 4& 0%>
! SRR £ !

o ) . h IR RN S ED Y e,
7.5.1.4 ;m@.{f—ea )78 P[] A e = 3 ; 16,000: 5,000: " 0005 0:fEELR

! ! ! ’ﬁ:/\’ﬁﬁiﬂf}“f“ni !

i 2 N ' ! AT B s
7.5.1.5 INEEEAN ZR A UERE 27,000: 12,500: 14 500! 01 4%

A 3 L 43,0000 17,500  25,500! 0!
<<)<$ﬁ’§|5$%1a Fe M 90% FEE 95% >
E ﬁﬂtiﬁﬁm‘“ ' '
,_.EEA_‘/ . \ H H ((é:' H H
1212 bj;%f%;ﬁ%‘ﬁ(*ﬁﬁb Ai@i*; 1,000,000{ 270, ooo’ FIREDE L 30,0004 1A%

700,000:

N { 1,000,000} 270,000§ 700,000 30,000




< EBREPL S W FEME T EI00% FFE 470%>>

oL R

8.1.2.2 é%ﬁ%@%ﬁ%ﬁﬁ%ﬁ%@% 3,9095 3,9005

2. 1.13. 0202 éift%ﬁﬁf#ﬂézﬂ%ﬁﬁ 66,0005 66,0005 Oéjcftﬁ':

8.1.2.2 E%ﬁ%iéwﬁ%ﬁ&%ﬁ%ﬁ%% 4,3835 4,3005 835?‘%’[3)51%
b Et 74,2925 74,2005 o 925

AN R A B PR HE M I Y R 90% &

= Hﬁﬁzj} JGL“C30~50%>>

7.2.3.3 AR R 24, ooo 21,600§ 2,400} 445
i 24,ooo§ 21,600; 0! 2,400!
LR RAR 5‘654100% P [ 30% >
6.1.6.2 ii&fi‘zfﬁtiﬁiﬂ%%&% 22,4511 22,400} 51176 TR
A 22,4511 22,400; 0; 51;
<<)<$T)§§%ﬁ§/jé e ELEansd  SEE BRIG O SHESE E@?é/ﬁﬁ ;Jié)
3.4.1.3 iﬁé%#}%é%ié&i%ﬁé& 3,5oo§ 3,500; AR
i E 3,500! 3,500! 0! 0!
<<Euuﬂ%ﬁwzﬁ%1a FEM R 100% HEE R 100%>>
;E&H#E&“BZH%%? 376,000; 376,000 B
AN 376,000, 376,000} 0; 0;
& 3 9,110,243!  1,034,2000 1,015,800; 60,243




